9 B1T3EF = (250827 %)

B | & ¥ B NEL A Z 0t
¥
bR 0 Tk
11:40 T
2 | K| (B)#&E483%10:00711:00 YhE PM
(@)1 %*a—‘ﬁ%ﬁuﬁﬂaA
3 | K| %Rt 13:30 TK Y AM
4 | & | BELLIRRR 1400 AS&RER 18:30°
5 | & | UN)akEE EREHA
6 | £
7|8
LhtlLEebWxoEH 128
8 | B | 2K%40
() HipE
9| %
10| Kk | Z=T¥ A2 (GhEBxR)
(& 1) &&RAE
A—FRI7-1 (IERxER)
0| & RI7=ILAYrtS5—k#%8
EEEZE 13:00
) (BB HRATRIEEARE 13:15
A—F 77— (IERxER) s
12| & | (&2)amuz ERIRENR
13| £
14| 8
15| B | #tEnB
16 | X BRYRERS
(&3)&&kRE
17| K | &£E NS
REEERAY S
18| K | (B)HTHASTREPH
19 | & EEREHR




RERUILIY IRRXREK

B | X ® nEL PR Z Dt

25 | K | (R)EFHRITHREEHAR 13:30

26 | & ERRENR

29 | B | (B)HRBAZO

30 | X FRY K&
(&)

XFERELZILNHYET




